Math 160:  6.4 Sampling Distributions

As of February 2009, the net worth (in billions of dollars) of the four wealthiest people in the U.S. are:


40 
Bill Gates  (Microsoft)


37 
Warren Buffet  (Berkshire Hathaway)


23 
Lawrence Ellison  (Oracle Corporation)


18 
Jim Walton  (Wal-Mart)
Assume that samples of size 2 are randomly selected with replacement from this population of four values.
	Samples of size 2
	Mean, 
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	Median
	Range
	Variance,
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	Standard Deviation, s
	Proportion of odd #’s
	Probability


	40, 40
	40
	40
	0
	0
	0.000
	0
	1/16


	40, 37
	38.5
	38.5
	3
	4.5
	2.121
	0.5
	1/16


	40, 23
	31.5
	31.5
	17
	144.5
	12.021
	0.5
	1/16


	40, 18
	29
	29
	22
	242
	15.556
	0
	1/16


	37, 40
	38.5
	38.5
	3
	4.5
	2.121
	0.5
	1/16


	37, 37
	37
	37
	0
	0
	0.000
	1
	1/16


	37, 23
	30
	30
	14
	98
	9.899
	1
	1/16


	37, 18
	27.5
	27.5
	19
	180.5
	13.435
	0.5
	1/16


	23, 40
	31.5
	31.5
	17
	144.5
	12.021
	0.5
	1/16


	23, 37
	30
	30
	14
	98
	9.899
	1
	1/16


	23, 23
	23
	23
	0
	0
	0.000
	1
	1/16


	23, 18
	20.5
	20.5
	5
	12.5
	3.536
	0.5
	1/16


	18, 40
	29
	29
	22
	242
	15.556
	0
	1/16


	18, 37
	27.5
	27.5
	19
	180.5
	13.435
	0.5
	1/16


	18, 23
	20.5
	20.5
	5
	12.5
	3.536
	0.5
	1/16


	18, 18
	18
	18
	0
	0
	0.000
	0
	1/16
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	Does the sample statistic target the population parameter?
	
	
	
	
	
	
	



These 4 values: 


40, 37, 23, 18 


are consider the population
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